523 1)

95’1:01);.18){):«/; 3 ) A25 ) 3
. X — X_6 OTavX—9,y—>. . _ _6 =25,y,=-2,Y,=
lim XXX 2T i Y Y0 L

x—9 X -3 y—3 y_3

W:3+2:

523 2)

3+5
Y1= ) =y=-1
Y243y +4A= 25:>y12_% <
8 -3-5
30X —x+4 oi;‘;";iym@ 3y_y?+4 =,
lim— lim————— =
x—16 ,\/— 4 y—4 y -4
. —(y+1)M
y—4
Y1= 12+53Y1:2
y2+y—6:A:25:>yl2:_7&5:/I
255N,
15
Y2= 2 =Y
Y1= 142'33)’17*1
,y2+y+2:A=92X1,2=%§32<
Géroupsy:x/_ y :_1_3éy
. \/’;+x—6"’“"VH“sﬁ2 y+y2 6 T2
lim XXX Y Y 0 _
x4 2 - X +/x y>22-y’ +y
(y7)(y+3) 243 [ 5
=lim = =|-=
yﬁz—(y+1)£y,/£j —-(2+1) |3

523  4)

Oétovpe y= Jx

X 1 dravx—1y—l 2 -1
J_ = lim yy _I|m _I|m

| y-1
xal x2 _\/; y—1 (yz )2 _y y—1 y -y oyl M
523 b5)

el r2yed
g e yiog (¥<2) (v e2y+ ) i2204-[2

1
-

1_

lim = =lim

x—8 \/_ 2 y—2 y— 2 y—2 yzf




